[ E =8

Glands, Bushings

S i [cH]

121



R & £} Technical Data
BIFIRIR 2 #E R Thread Standard Reference Table

IRATIME EAUVE - 4 -
oF 48 %%tEE Outside Minor R _Fﬂﬁ(éd d P *’%*5Dﬁ(é.
A IJ ITC Diameter Diameter ecor_nmgn e ane ountlng
LA %_ P Drill Size Hole
( Metric) D1 D2
|¢P»| mm @ mm @ mm @ mm @ mm
M12 1.5 12 10.376 10.6 12~123
W\/\ M16 15 16 14.376 14.6 16 ~ 16.3
b1 _Az_ M20 15 20 18.376 18.6 20~20.3
D
M25 15 25 23.376 23.6 25~25.4
# M32 1.5 32 30.376 30.6 32~324
M40 15 40 38.376 38.6 40 ~ 40.4
M50 15 50 48.376 48.6 50 ~ 50.4
M63 1.5 63 61.376 61.6 63 ~63.4
IRATIME RV . 4 .
R% B Outside Minor L *’%&D&.
oF 38 Pitch Diameter Diameter Recommended Panel Mounting
PG P D1 D2 Drill Size Hole
mm ? mm @ mm @ mm @ mm
PG 7 1.27 12,5 11.28 11.4 12.5~12.8
= |« P »| PG9 1.41 15.2 13.86 14 15.2 ~ 15,5
= f /\/\ PG 11 1.41 18.6 17.26 17.4 18.6 ~ 189
% o1 +  PGI35 1.41 20.4 19.06 19.2 20.4~207
(=}
2R D2 PG 16 1.41 225 21.16 21.3 22.5~228
] ‘_ PG 21 1.588 28.3 26.78 27 28.3~287
PG 29 1.588 37 35.48 35.7 37~37.4
PG 36 1.588 47 45.48 457 47 ~47.4
PG 42 1.588 54 52.48 52.7 54 ~ 54.4
PG 48 1.588 59.3 57.78 58 59.3 ~ 59.7
IRATIME EAU)VE - 4 i
ftfﬁ Outside ity Recofnikﬁded Ponﬁ*ﬁoutﬁtin
GE{IEE) P Diameter Diameter Drill Size Hole 9
D1 D2
mm @ mm @ mm @ mm @ mm
|¢ P +| PF 1/4 1.337 13.157 11.445 11.8 13.2~13.4
W\ PF 3/8 1337 16.662 14.95 15.3 16.7 ~ 16.9
b1 < PF 1/2 1.814 20.955 18.631 19 21~21.2
D2 PF 3/4 1.814 26.441 24.117 24.5 26.5 ~ 26.8
# ------------ T—- PF 5/8 1.814 2291 20.587 23~233 23~233
PF 1 2.309 33.249 30.291 30.8 33.3~336
PF 1 1/2 2.309 47.803 44.845 45.3 48 ~ 48.4
PF 2 2.309 59.614 56.656 57 60 ~ 60.4
oF 38 Pitch Outsicjle Diameter Recommended Panel Mounting
|¢ p $| NPT P Drill Size Hole
mm ? mm @ mm ? mm
/\ NPT 1/4 1.411 13.616 11.1 13.9~14.1
NPT 3/8 1.411 17.055 14.5 17.2~17.4
E NPT 1/2 1.814 21.223 17.8 21.4~217
B S R NPT 3/4 1.814 26.568 23 26.8 ~27.1
90° NPT 1 2.208 33.227 29 33.5~338
NPT 1 1/4 2.208 41.984 38 423~ 427

122 BISMER R Bl & 5 (02)2555-1929  £16(02)2556-3336 57(04)2301-1255 ©7(06)787-2239 =1#(07)323-1488



& ¥l Technical Data

KSS JRE -~ EFEEE « £4E T H HEBR Conduit, Cable Gland, Install Tools Reference Table

RE
CRS-05P
CRS-07P
CRS-11SP

CRS-11P

CRS-13P
CRS-15P
CRS-17P
CRS-19P
CRS-22P
CRS-24P
CRS-25P
CRS-28P
CRS-32P
CRS-35P
CRS-40P
CRS-48P
PA-07

PA-10

PA-12

PA-17

PA-23

PA-29

PA-36

PA-48

CF-14P
CF-18P(3 %)
CF-22P(4 %)
CF-26P(6 )
CF-34P(1 )
CF-42P(1 & 2 93)
CP-26POE
CP-34POE
CP-40POE
CP-51POE
BG-10P
BG-14P
BG-16P
BG-18P (3%)
BG-20P
BG-22P (4%)
BG-25P
BG-26P (643)
BG-32P
BG-34P (1mf)
BG-40P
BG-42P (1M243)
BG-48P (1M3)
BG-50P
BG-55P (EX#R2m)
BG-60P (2f)
BG-76P (2m3#)

PAQ-0707, PAQ-0709

PAQ-1216, PAQ-1211, PAQ-1209, PAQ-12135, BG-16, BGQ-

16, BM-18

BG-16, BGQ-18, BM-18

BGQ-20, BM-22

PAQ-17135, PAQ-1721, BG-22, BGQ-22, BM-22
BG-26, BGQ-25, BM-26

BG-26, BGQ-26, BM-26

BG-32, BGQ-32

BG-32

BG-34, BGQ-34, BM-34

BG-40, BM-42

BM-42

BG-48, BG-50

PAQ-4848

PAQ-0707, PAQ-0709

PAQ-1009

PAQ-1209, PAQ-1211, PAQ-12135, PAQ-1216, BM-18
PAQ-17135, PAQ-1716, PAQ-1721, BM-22
PAQ-2321

PAQ-2929, BM-34

PAQ-3636, BM-42

PAQ-4848

BG-14

BG-18, BM-18

BG-22, BM-22

BG-26, BM-26

BG-34, BM-34

BM-42

BG-10

BG-14

BG-16, BGQ-16, BM-18
BG-18, BGQ-18, BM-18
BG-20, BGQ-20, BM-22
BG-22, BGQ-22, BM-22
BG-25, BGQ-25, BM-26
BG-26, BGQ-26, BM-26
BG-32,BGQ-32, BM-34
BG-34, BGQ-34, BM-34
BG-40, BM-42

BG-42, BM-42

BG-48, BM-48

BG-50

RE

BIFE
CR-05P
CR-07P
CR-11SP
CR-11P
CR-13P
CR-15P
CR-17P
CR-19P
CR-22P
CR-24P
CR-25P
CR-28P
CR-32P
CR-35P
CR-40P
CR-48P
PAO-07
PAO-10
PAO-12
PAO-17
PAO-23
PAO-29
PAO-36
PAO-48

BERBRIVERS

ZETH

KT-8BK

KT-8BK

KT-8BK

KT-15BK
KT-15BK
KT-20BK
KT-20BK
KT-20BK
KT-25BK
KT-25BK
KT-32BK
KT-32BK

KT-8BK

KT-8BK

KT-15BK
KT-15BK
KT-20BK
KT-25BK
KT-32BK

&
4

i P [2H

BISMER R R B 53 (02)2555-1929  £16(02)2556-3336 &H1(04)2301-1255 &F(06)787-2239 =1(07)323-1488 123



®

0604 KSS B#E[EE 58 NYLON CABLE GLAND W C€ g8

E186042 IP68 IER

‘¢ L1 >
r —
oD. \ =]
—
\A T

BIE BmE A R *EE AT

TR AGL AGW  AGB AGS AGN
METRIC #3148 IP68FAEE ~ BhKiflFH &1 B mm
B 5% BRGRE BAIME HRALE BARE FEEBIME 2
Item No. Thread Thread O.D.  Mounting Hole L1 Cqble Range Packing
AG-12 M12x1.25 12 12+0.2 7.9 3~6.5
AG-12L M12x1.5 12 12+0.2 7.9 3~6.5
AG-12H M12x1.25 12 12+0.2 7.9 3~7.5
AG-12HL M12x1.25 12 12+0.2 9.0 3~7.5
R AG-16 M16x1.5 16 16+0.2 15.5 5~10 50pcs
AG-16S M16x1.5 16 16+0.2 10.0 5~10
E R AG-20 M20x1.5 20 20+40.2 15.0 10~14
ﬁ-l:_ R AG-20s M20x1.5 20 20+40.2 10.0 10~14
EE R AG-25 M25x1.5 25 25+0.3 15.2 13~18
R AG-255 M25x1.5 25 25+0.3 10.0 13~18
RN AG-32 M32x1.5 32 32+0.3 14.7 18~25 25pcs
RN AG-40 M40x1.5 40 40+0.3 18.4 22~32
AG-50 M50x1.5 50 50+0.3 17.8 30~38
AG-63 M61x1.5 61 61+0.3 18.5 34~44 10pcs
AG-63M M63x1.5 63 63+0.3 18.5 34~44
AG-63L M63x1.5 63 63+0.3 25.4 42~50
@ AG-75 M75x2.0 75 75+0.4 25.1 56~66 2pcs
AG-12D M12x1.5 12 12+0.2 8.0 3~6
AG-16D M16x1.5 16 16+0.2 8.2 5~10
50pcs
R\ AG-200 & M20x1.5 20 20+40.2 10.0 8~12
R AG-25D & M25x1.5 25 25+0.3 10.0 11~17
R AG-32D 3 M32x1.5 32 32+0.3 10.0 15~21 25pcs
R AG-40D I M40x1.5 40 40+0.3 10.0 20~28
AG-50D M50x1.5 50 50+0.3 12.0 27~35 10pcs
R AG-63D M63x1.5 63 63+0.3 16.7 32~42

#ME : ULEMEZNYLON 66 (E) > BHNELR 94V-2 » FEXE A0 B4 EE(TPE) » R APVC o
Bk nEZERANSREIER « 1Z4I5 - ARBRERARILE - RiBEWH - GSRESERNENERBEE T2 °
% AG-DRY > RS\ rIEREMRE] 0 ZHETERE °
% | RARERENR L > LUBEREE Y - BREEHKEAKRZE > RELUBREFHBEETE » WESIFHK « BHEEZIEE o
HRL L LARSEREM—EERE > HRER « &5
2AERZBEBERIMNEFNER » EFIRERIEERR » B/ o
3.IPGSIAEE |3757}< UETA%O

X BEDRTHERSTHE > BEGFEEM ERASE | 1B05(L) 25 (W) 4EE(B) 2REE|(S) IBEE(N) B : sTHAG-124215 »
RUEEAAGL-12 ©

124 BN R B & 5 (02)2555-1929  £36(02)2556-3336  &H1(04)2301-1255 AF(06)787-2239 =1#(07)323-1488



0604 KSS EE#45[E E 53 NYLON CABLE GLAND

IP 68 B’R

=

1208 B4 <8 REE B EI HEEEEE
Z{r5E: CAGLCAGW CAGB CAGS CAGC CAGN
B mm
BS% BRAGRIS IRAIIME HRFLE BRRE BRAEEIME %

Item No. Thread Thread O.D.  Mounting Hole L1 Cable Range Packing
CAG-12 M12x1.25 12 12.0+0.2 8.1 3~6.5
CAG-16 M16x1.5 16 16.0+0.2 15.5 5~10 E0DCS
CAG-20 M20x1.5 20 20.0+0.2 15.0 10~14 P
CAG-25 M25x1.5 25 25.0+0.3 153 13~18
CAG-32 M32x1.5 32 32.0+0.3 15.0 18~25 25pcs
CAG-40 M40x1.5 40 40.0+0.3 18.2 22~32
CAG-50 M50x1.5 50 50.0+0.3 18.2 30~38 10pcs
CAG-63 M63x1.5 63 63.0+0.3 18.2 34~44

ME : ULE1EZNYLON 66 (FRfa) » BiKFLR 94V-2 » SREE A O EEE4RS(TPE) » BRAPVC o
B : JEZEANSELER « 578 - XIBERREE « XBTH - BRRESERNGNBREEEEZA °
% | SR ABRERER L - LIBREIEZ » BREBEEAREE » REUEARFEREBREE » WERIFIK » BIEZINEE o
1550 0 LERCEE  B7 -
2AEMZBRBRRINELNAE » EFIRIFRIRAIEFRE > 85 - g -
X BNREIBERSME  BFEEREIN AT | B (L) 2R (W) 88(B) REEB(S) 2REM(C) BEE(N)
B : STRECAG-124218 > BUSEABCAGL-12 ©

S i [cH]

ESNB R EI 5 (02)2555-1929  435(02)2556-3336  &1(04)2301-1255 AF(06)787-2239  &it(07)323-1488 125



®

0606 KSS E4EE EFE NYLON CABLE GLAND NCEL OO

E186042 IP 68 MEE ‘R

4218 B2 REM BREXE HEESE]

THIEGL EGB EGS EGN
PG Filg xzRa28E  xIP68 BHEE « BiKREER (BEME2A) B mm
B g IRATIRAE IRATHME kAL BARE FAEEIME B %
Item No. Thread Thread O.D. Mounting Hole L1 Cable Range Packing
EG-7 PG7 12,5 12.5+0.2 7.9 3~6.5
RN EG-7LS PG7 12,5 12.5+0.2 7.9 3~6.5
N EG-o PG9 15.2 15.2+0.2 8.2 4~8
N EG-aL PG9 15.2 15.2+0.2 14.7 4~8 A
N EG-11 PG11 18.6 18.6+0.2 7.9 5~10 =3
o 50pcs
R EG-11L PG11 18.6 18.6+0.2 14.9 5~10 A0
[ R EG-135 PG13.5 20.4 20.4+0.2 8.9 6~12 T~
E WM EG-135L PG13.5 20.4 20.4+0.2 15.8 6~12 i
BH WA\ EG-16 PG16 225 22.5+0.2 9.8 10~14 7
N EG-21 PG21 28.3 28.3+0.3 10.8 13~18 B
R EG-29 PG29 37.0 37.0+0.3 10.8 18~25 25pcs
RN EG-36 PG36 47.0 47.0+0.3 15.0 22~32
EG-42 PG42 54.0 54.0+0.3 14.5 30~38 10pcs
EG-48 PG48 59.3 59.3+0.3 16.7 34~44

ME  ULATEZNYLON 66 (Bf8) » BHNER 94V-2 » KERE A DB 4R (TPE) o
Bk EZERNSREBRER « 155 - KIBFERMECLT - RiBTRES « BESRESE aég%uaﬁ?aﬁﬂ*lﬁl/EZm 0
% R ARBERENR L > LUBEREZ » BREESEAKXRE > RELAREFEHBARETE » WEFIFHK « BHEZINEE
15BE 1 1 ASBEBITR SR M —BERREY - SEFDEEF - R o

2AEMZEBEERIIMEATVEER > EFIRERREERE > 7 B o

3.IP6SHAEE ~ BB A8 (BINER) ©
X ENBTERTMRE > BEASEEMN LA | BI5(L) 2R (W) 4<EE(B) RZRE(S) IBEEE(N)

Bl : TRBEG-71218 » BISRAEGL-7 ©

@ EG-7LS 121585

126 BN R R B 55 (02)2555-1929  £16(02)2556-3336  &H1(04)2301-1255 &7#(06)787-2239 =1#(07)323-1488



ey

0606 KSS EA&E E 58 NYLON CABLE GLAND ©
IP68 MmEE IRR
i+
'- o.D.[ [ H E
g
1218 S REE REM B
Z4SR: CEGL CEGB CEGS CEGC CEGN
PG *E*ﬁ XERTFE B . mm
B 5% IRAFRA IRALIME BARFLIE BARE BREEIME 2
Iltem No. Thread Thread O.D. | Mounting Hole L1 Cable Range Packing
CEG-7 PG7 125 12.5+0.2 8.0 3~6.5
CEG-9 PG9 15.2 15.2+0.2 8.2 4~8 piy
CEG-11 PG11 18.6 18.6+0.2 8.2 5~10 =
50pcs
CEG-13.5 PG13.5 20.4 20.4+0.2 9.0 6~12 -
CEG-16 PG16 225 22.5+0.2 9.9 10~14 ;n_
CEG-21 PG21 28.3 28.3+0.3 10.8 13~18
CEG-29 PG29 37.0 37.0+0.3 10.8 18~25 Py 25pcs |E|
CEG-36 PG36 47.0 47.0+0.3 14.7 22~32 2 fE
CEG-42 PG42 54.0 54.0+0.3 14.7 30~38 R 10pcs EE
CEG-48 PG48 59.3 59.3+0.3 16.7 34~44

& : UL ZNYLON 66 (E) » BANER 94V-2 » REXE| A AR B8 M EE(TPE) ©
Rk EZERNSREIER « 155 - KPBRERMECLR - RiBTEES - BESRESE sg%ﬁqnuaﬁﬂiz BETEZH °
% | R ARBERENR L > LUBEREZ » BREESEAKXRE > RELAREFEBRERE » WEFIFHK  BHEZINEE
15EY L 1R S @5 o
2AERZERBERIMNESNER » HFIREIFEFERE » B~ o
X ENRTERSSMR > BERSEEMNLESMSE | BIIB(L) 25 (W) 2<E8(B) IREE(S REM(C) BETE(N)
5l : STRECEG-71218 » BISEACEGL-7 ©

ESMB R EI 5 (02)2555-1929  435(02)2556-3336  &1(04)2301-1255 AF(06)787-2239  &it(07)323-1488 127



0604 KSS BEEE

M CEL O @

E186042 IP 68 MEE ‘R

88 NYLON CABLE GLAND

B

REZERNSERER

R =R BRRTERRONERBEREEZA -

% | oA ERERLE LX?;%WEIEIEEZ ' BREREARZE > RENEFKBEFHBARERE > I

1218 BA EE REM RETE ARE
TR AGJL AGIW  AGJB AGJS  AGJN
PF #31& (GH )B7s JIS}RIE IPGSBHEE ~ PhKAI &% B8 : mm
Bl g8 RAFRIG BAIME R BARE BEIMS a8
Iltem No. Thread Thread O.D. Mounting Hole L1 Cqble Range Packing
RN AG)-14 PF 1/4" 13.2 13.2+0.2 8.0 3~6.5
AGJ-17 PF 3/8" 16.7 16.7+0.2 14.7 5~10
R AG)-21 PF 1/2" 21.0 21.0+0.2 12.9 10~14 50pcs
AGJ-58 PF 5/8" 229 22.9+0.2 12.9 10~14
N AGJ-27 PF 3/4" 26.4 26.4+0.3 14.7 13~18
R AG)-34 PF 1" 33.2 33.2+0.3 14.7 18~25 25pcs
AGJ-112 PF 1 1/2" 478 47.8+0.3 17.8 30~38 L0ocs
&5 AGJ-2 PF 2" 59.6 59.6+0.3 185 34~44 P
= . - ,
E AG-16F,AG-20F%& PF1/2°  (14%) > SRIRIETBIZEE N IREIRERE A MENRERE L o
G| AG-16F PE 1/2" 20.8 20.8+0.2 9.5 5~10 —
AG-20F PF Thread 14 % 20.8 20.8+0.2 9.3 6~13 P
#ME : ULEAMEZNYLON 66 (Bf) » BHNZELR 94V-2 » KREE A AT EEMEE(TPE) » R APVC -

EERIFGK ~ BIEEZINAE

1585 | LAERE R M—RERE! - HECERT - @7 -
2AEMZIBERE E?*%LHTL%E‘ s FEFIRIFRIRIEFRE » B~ fifE -

X EDRFIER TR > SFERRREMN ERANE | BI5(L) 2R (W) £58(B) REE(S) i8S
BUSRAAG)L-14 ©

% AGJ-17 ~ AG)-34RF51P68 ©

SEA(N)BY : STEBAG)- 144218

128 BN R R B 55 (02)2555-1929  £16(02)2556-3336  &H1(04)2301-1255 &7#(06)787-2239 =1#(07)323-1488



0608 KSS EAEETESE NYLON CABLE GLAND NCEL OO

E186042 IP 68 MEE ‘R

g REM  REE EEEH

RS NPTB NPTS NPTN
NPT #1& sxigRzRa5E  xIP68 BAEE « BikAl &M (Bmah) Bi1 : mm
B SR NPT S2408R1& BRAIME HRALE BURE  BERBEIME a8 %

Item No. NPT Thread Thread O.D.  Mounting Hole L1 Cable Range Packing
NPT-14 1/4"-18 NPT 133 13.3+0.2 7.8 3~6.5
NPT-38 3/8"-18 NPT 17.2 17.2+0.2 14.6 5~10 & =28

" Z=PE 50pcs
NPT-12 1/2"-14 NPT 212 21.2+0.2 129 10~14 5 &

[a]=}

NPT-34 3/4"-14 NPT 26.3 26.3+0.3 145 13~18 T2
NPT-1 1"-11.5 NPT 33.2 33.2+0.3 149 18~25 Pt 18 25pcs
NPT-114 11/4"-11.5 NPT 41.9 41.9+0.3 18.2 22~32 10pcs

ME : ULERZNYLON 66 (Ef) > PiNELR 94V-2 » REE AMETEEMEE(TPE) o
B AIEZERNKEREE « 255 - XKIGAERMEE - XIBYHE GRRESERUSNBETERE A -
Bk i AREEEA > BEBEEEAKEE » RELUATEREBAEETE » WETIBHK « BHEZINE °
$58h ¢ 1 ARBRBIR TR M —BERLEY - HEFERF - B o
2AERZERBERIMNEANER » EFIRERNEFERE » B~ o
3.IP6SEAHEE ~ BRI &% (BINRER) -
X EDHTEESHR > FEAREBEMN LR L B BR (W) &88(B) REE|(S) BEE(N)BI : sTEENPT-1474648 >
BlgE ANPTB-14 ©

0609 KSS E %! E 45 78 RIGHT ANGLE NYLON CABLE GLAND C€ &8 © @

IP 68 MmEE IBR

REM REE BRE

NPTS NPTN
0D >
-
SR NPTAB
NPT #31& xiZigrzpEaIsE  XIP68 BAEE « BAKEIE &M (BNRA) B8 fiL : mm
B 5 NPT #BAGRE  BAUME HiRfE  BWMRE | L BAEEIME 2
Item No. NPT Thread  Thread O.D. Mounting Hole L1 Cable Range Packing

NPTA-38 3/8"-18 NPT 17.2 16.7+0.2 11.7 485 30.0 5~9 7 3
NPTA-12 1/2"-14 NPT 21.2 21.2+0.2 147 516 31.2 10~13 % g 20pcs
NPTA-34 3/4"-14 NPT 26.3 26.3+0.3 148 645 416 13~16 %‘3 12

=
NPTA-114 11/4"-11.5 NPT 41.9 41.9+0.3 18.8 85.0 53.0 22~29 Fy 8 10pcs

#E : ULEMEZNYLON 66 (B &) » BANFALR 94V-2 » KRB AT BB 4EEE(TPE) ©
Bt EZERANSRERERS « 1515 - KRRRERMRELR - RiBESH - GSRESTERUENELRBEE T2 °
% AR ABEEHEA 0 BRESEAKRZRE > RERLBREFEBERETE > WESIFGK « BHEZINEE
15Eh L 1 ASBREAR RN —RERE » SR ERF - EF) o
2AREMZEBEEIMEATVER » EFIRERREERE » 7 B o
3.IP6SHAEE ~ BB 18 (BINER) ©
AKREREAGERBERNEAIRE o
X BNMTESDNR  BAEAREEINESMASE - BIg(L) BR (W) 458 (B) RZEE(S) IBEEE(N)FI - sTRENPTA-3874EE »
RIS ANPTAB-38 o

S i [cH]

BN RBIE 5 (02)2555-1929 &15(02)2556-3336 &5H(04)2301-1255 &HRE(06)787-2239 =1#(07)323-1488 129



®

0607 KSS EAE[E]E FHEE12EA GLAND ADAPTOR %
ME I ULEEZNYLONGG (K &) » BHNEARIAV-2 ©
RR . tERARETEEMETRICIZAER AR PGIRA
Dzﬁéf b1
7 — =i *
( ] oD.
=
W >l
B mm
A g 9#&%/.%_3(%&1% D1\ . RIRARE D2 . & 8
Item No. BAURS BAIME ﬁt*)_ﬁ?Lﬁ‘é BRRE BOOER BERE Packing
Thread Thread O.D. Mounting Hole L1 Thread L2
P712GY4 PG7 125 12.5+0.2 8 M12X1.5 10 15.0
P716GY4 PG7 125 12.5+0.2 8 M16X1.5 10 20.0
P912GY4 PG9 15.2 15.2+0.2 8 M12X1.5 9 18.8
P916GY4 PGO 15.2 15.2+0.2 8 M16X1.5 10 20.0
P920GY4 PGO 15.2 15.2+0.2 8 M20X1.5 10 24.0
P1116GY4 PG11 18.6 18.6+0.2 8 M16X1.5 9 22.0
P1120GY4 PG11 18.6 18.6+0.2 8 M20X1.5 10 24.0 100pcs
P1316GY4 PG13.5 20.4 20.4+0.2 9 M16X1.5 9 24.0
@ P1320GY4 PG13.5 204 20.4+0.2 9 M20X1.5 10 24.0
£E P1325GY4 PG13.5 20.4 20.4+0.2 9 M25X1.5 10 30.0
EE P1620GY4 PG16 22.5 22.5+0.2 10 M20X1.5 10 26.8
P1625GY4 PG16 225 22.5+0.2 10 M25X1.5 10 30.0
P2125GY4 PG21 28.3 28.3+0.3 11 M25X1.5 10 325
P2132GY4 PG21 28.3 28.3+0.3 11 M32X1.5 12 36.8 50pcs
P2932GY4 PG29 37.0 37.0+0.3 11 M32X1.5 10 41.6
P2940GY4 PG29 37.0 37.0+0.3 11 M40X1.5 11 44.8
P3640GY4 PG36 47.0 47.0+0.3 11 M40X1.5 10 55.0 25pcs
P4250GY4 PG42 54.0 54.0+0.3 11 M50X1.5 14 55.0
P4863GY4 PG48 59.3 59.3+0.3 11 M63X1.5 14 68.0
0607 KSS TE4E[E 5885558 ENLARGER GLAND ©
ME | ULEIE ZNYLONGG (IR E8) » [k EARIAV-2 ©
FRiR @ b m Pl EE SRRV IR AUME A RTEHA R VR ©
Dﬁf b1
=i
] oD.
=
W > L1l
B D mm
SMEAGRIE D1 RERAGRIE D2
o s o= R #
Rt gaoms | SO g mmEE SRR BRER vl
Thread oD. Mounting Hole L1 Thread L2
M1216GY4 M12X1.5 12 12+0.2 8.0 M16X1.5 8.0 20.0
M1620GY4 M16X1.5 16 16+0.2 8.0 M20X1.5 10.5 24.0 100PCS
M2025GY4 M20X1.5 20 20+0.2 8.0 M25X1.5 10.0 29.0
M2532GY4 M25X1.5 25 25+0.3 8.0 M32X1.5 115 36.0 50PCS
M3240GY4 M32X1.5 32 32+0.3 10.0 M40X1.5 115 46.0
M4050GY4 M40X1.5 40 40+0.3 10.0 M50X1.5 115 55.0 25PCS
M5063GY4 M50X1.5 50 50+0.3 10.0 M63X1.5 115 68.0

130 BN R R B 55 (02)2555-1929  £16(02)2556-3336  &H1(04)2301-1255 &7#(06)787-2239 =1#(07)323-1488



0607 KSS TE4&[E & 7HER+%5H REDUCTION GLAND @

EEE BRE

8 : ULEEZNYLONGG > BHN 4R 94V-2 o
& IhE R E E BAMRAIME R/ NR T EIR AR ©

L2
D1

v
W —> L1
KEEBAEE BAI . mm
- SMBAEE D1 REBSURIE D2 o | ows
) g8 AT i STl 1T TR
tom i, e BAOE VoA BEEE BT BEEE W poding
Thread oD. Hole L1 Thread L2
M2012 M20X1.5 20 20+0.2 8.0 M12X1.5 11.0 24.2
M2016 M20X1.5 20 20+0.2 8.0 M16X1.5 12.0 24.2 100pcs
M2516 M25X1.5 25 25+0.3 8.0 M16X1.5 13.0 29.0
M2520 M25X1.5 25 25+0.3 8.0 M20X1.5 14.0 29.0
M3220 M32X1.5 32 32+0.3 10.0 M20X1.5 145 35.9 50pcs
M3225 M32X1.5 32 32+0.3 10.0 M25X1.5 15.0 35.9
M4032 M40X1.5 40 40+0.3 10.0 M32X1.5 15.0 45.8 E
M5040 M50X1.5 50 50+0.3 11.5 M40X1.5 15.0 55.0 25pcs IF:E
M6350 M63X1.5 63 63+0.3 115 M50X1.5 115 67.5 LEL,E
XBEEEBRE B mm
J SMBEURIE D1 PIRALIE D2 ~ N
b, Boomm  BEME EELE geer wmes BHEE W pedi
Thread oD. Hole L1 Thread L2
M1612GY4 M16X1.5 16 16+0.2 8.0 M12X1.5 12.0 22.0
M2512GY4  M25X15 25 25+0.3 8.0 M12X1.5 13.0 g5 100Pcs
M3212GY4 M32X1.5 32 32+0.3 10.0 M12X1.5 10.0 355 50pcs
M3216GY4 M32X1.5 32 32+0.3 10.0 M16X1.5 14.3 35.5
M4016GY4 M40X1.5 40 40+0.3 10.0 M16X1.5 10.0 455
M4020GY4 M40X1.5 40 40+0.3 10.0 M20X1.5 10.0 45.5
M4025GY4 M40X1.5 40 40+0.3 10.0 M25X1.5 10.0 455
M5020GY4 M50X1.5 50 50+0.3 12.0 M20X1.5 12.0 54.5
M5025GY4 M50X1.5 50 50+0.3 12.0 M25X1.5 12.0 54.5 25pcs
M5032GY4 M50X1.5 50 50+0.3 12.0 M32X1.5 12.0 54.5
M6325GY4 M63X1.5 63 63+0.3 12.0 M25X1.5 12.0 67.5
M6332GY4 M63X1.5 63 63+0.3 12.0 M32X1.5 12.0 67.5
M6340GY4 M63X1.5 63 63+0.3 12.0 M40X1.5 12.0 67.5

EISMRAREIE 5 (02)2555-1929  &15(02)2556-3336 &5(04)2301-1255 47(06)787-2239 =i(07)323-1488 131



NYLON CABLE GLAND (WITH STRAIN RELIEF) "\ () &9

= 48 ]
%l“ﬁ.@ J-, E186042 IP 68  IRfR

MHE D UL ZNYLON 66 (Rt) > [k FER 94V-2 > REE AP B
fE(TPE) » R APVC

1R BEERR R RAMHERE

0603 KSS itk

BREBRTBITEZ/EA -

= 1218 BhR g REM REE

% AGL AGW AGB AGS
METRIC #31& (IP68FAEE ~ BL7KAI 518) BN I mm
AU 5% BRBGRNE BRAIME HRFLIE BORE BERRE BERABEMNME 8 %
[tem No. Thread Thread O.D. | Mounting Hole L1 L2 Cable Range  Packing
AG-12SR M12x1.25 12 12+0.2 7.9 53.3 3~6.5
R\ AG-16SR M16x1.5 16 16+0.2 155 74.4 5~10 50pcs
R\ AG-20SR M20x1.5 20 20+0.2 15.0 96.2 10~14
R\ AG-25SR M25x1.5 25 25+0.3 15.2 111.2 13~18 25pcs
PG fit& (EGRIIFZER)
EG-7SR PG-7 125 12.5+0.2 7.9 53.3 3~6.5
EG-9SR PG-9 15.2 15.2+0.2 8.2 61.0 4~8
E W\ EG-11SR PG-11 18.6 18.6+0.2 7.9 74.9 5~10 50pcs
A-F‘E W\ EG-13.55R PG-13.5 20.4 20.4+0.2 8.9 85.5 6~12
EE W\ EG-16SR PG-16 225 22.5+0.2 9.8 96.2 10~14
W\ EG-21SR PG-21 28.3 28.3+0.3 10.8 111.2 13~18 25pcs
PF 381 (GZF) BZRJIS #81%
AGJ-14SR PF1/4" 13.2 13.2+0.2 8.0 53.3 3~6.5
AGJ-17SR PF3/8" 16.7 16.7+0.2 14.7 74.9 5~10 50pcs
AGJ-21SR PF1/2" 21.0 21.0+0.2 129 96.2 10~14
AGJ-27SR PF3/4" 26.4 26.4+0.3 14.7 111.2 13~18 25pcs
NPT f1& (NPTRIIFZER KIRE)
NPT-14SR 1/4"-18 NPT 13.3 13.3+0.2 7.8 53.3 3~6.5
NPT-38SR 3/8"-18 NPT 17.2 17.2+0.2 14.6 74.9 5~10 50pcs
NPT-12SR 1/2"-14 NPT 21.2 21.2+0.2 12.9 96.2 10~14
NPT-34SR 3/4"-14 NPT 26.3 26.3+0.3 14.5 111.2 13~18 25pcs

HKEDFIBRTMHR > FERSREMN RN

B : sTRBAG-12SRIBEEE » BISEAAGN-12SR

BIE(L) BR (W) £E2(B) KREE(S)

BEEE(N)

132 BISMBRREIE 5 (02)2555-1929 &16(02)2556-3336 &H1(04)2301-1255 &#(06)787-2239 =1#(07)323-1488




0605 KSS EHEEIEEH

BUSHING GLAND

M8 : mRMEPVC (R&) °
Rt BICHERRERIRENFR > (REBEZMA -

458k

i

L1

~

O.D.

= BRI RIREE AR/ METIE

B

B . mm
B 5% IRATIME HARFLE BORE o K —BAT ZBRAT ZEBRRK 2553
Item No. Thread O.D. Mounting Hole L1 = * D E F Packing
KB-1 20 20+0.2 13.0 14.0 6.0 8.0 10.0 50
KB-2 22 22+0.2 175 166 100 13.0 15.0 pes
A =By
0610 KSS #EBIRIEE MICRO SWITCH COVER
B mm
B Sf Hamz, —BAR ZBAT =ZRAK W H L (215
Item No. AaE OA 0B @C Packing
CB-1 90° 7 9 49 27 19 ‘
50pcs
CB-2 45° 7 9 11 49 27 19 ‘

?A
2B
@C

ME : BEEEPVC (Bf) °

B | sERERREMSFHAMmRE
SR « SRR S 2 BRI R ERAEEMURE - BEME -
WA REBENZITE = (FA -
BAEEHEAA5 > 90° MBHGTL > SEEAFAENE S RMEFRMZ &M -

le— L

v

S i [cH]

ESMBR BB 5(02)2555-1929  &15(02)2556-3336  Ah(04)2301-1255 47(06)787-2239 &k#(07)323-1488 133



®

0613 KSS ZF|, T 4[E REFE(2FL) MULTI-HOLE NYLON CABLE GLAND (2 HOLES)

(AL

i

JUU

#ig Bh EE  REM REE BEEE
BHEAS L W B

METRIC #R4& PG #ilg xmRazsm B mm
my  gums o BE mEme as my  mwgs POS T8 s os
Iltem No. Thread Hole le CableRange  Packing Item No.  Thread Hole le CableRange = Packing
AG-12-2A MI12X1.25 12.0+0.2 7.9 2.0-~3.1 EG-7-2A PG7 125402 79 20~3.1
AG-12L-2A M12X15 12.0+0.2 7.9 2.0-~3.1 EG-7LS-2A PG7 125402 79 20-~3.1
AG-16-2A M16X15 16.0+0.2 155 1.6~2.6 EG-9-2A PG9 15.2+0.2 82 20~3.1
AG-16-2B M16X15 16.0+0.2 155 2.0~3.1 EG-9L-2A | PG9 15.2+0.2 14.7 2.0~3.1
AG-16-2C M16X15 16.0+0.2 155 3.0~4.1 EG-11-2A | PG11 186+0.2 79 1.6~2.6
AG-16S-2A M16X1.5 16.0+0.2 10.0 1.6~2.6 EG-11-2B PG11 186+0.2 79 20~3.1
E AG-16S-2B M16X15 16.0+0.2 10.0 2.0~3.1 EG-11-2C | PG11 186+0.2 79 3.0~4.1
preny AG-16S-2C M16X15 16.0+0.2 100 3.0~4.1 EG-11L-2A PG11 18.6+0.2 149 1.6~2.6
% AG-20-2A M20X15 20.0+0.2 150 1.6~2.6 EG-11L-2B PG11 18.6+0.2 149 20-~3.1
# AG-20-2B | M20X1.5 20.0+0.2 | 15.0 2.0~3.0 EG-11L-2C PG11 18.6+0.2 149 3.0~4.1
AG-20-2C | M20X1.5 | 20.0+0.2 | 15.0 2.5~35 EG-13-2A | PG13.5| 20.4+0.2 89 3.5-~52
AG-20-2D M20X1.5 20.0+0.2 15.0 3.0~4.1 EG-13L-2A | PG13.5 20.4+0.2 158 3.5~52 7k
AG-20-2E  M20X1.5 20.0+0.2 150 3.3~4.3 EG-16-2A PG16  225+02 98 16-26 g 50pcs
AG-20-2F M20X1.5 20.0+0.2 15.0 3.5~5.2 EG-16-2B PGl6 225+0.2 9.8 2.0-~3.0 I3
AG-20-2G  M20X1.5 20.0+0.2 150 4.3~6.1 EG-16-2C PGl6 225+0.2 9.8 25-~35 x
AG-20S-2A M20X1.5 20.0+0.2 10.0 1.6~2.6 EG-16-2D PGl6 225+0.2 9.8 3.0~4.1
AG-20S-2B M20X1.5 20.0+0.2 10.0 2.0~3.0 50pcs EG-16-2E | PGl6  225+0.2 9.8 3.3~43 g
AG-20S-2C M20X1.5 20.0+0.2 10.0 2.5~35 EG-16-2F PGl6  225+0.2 9.8 3.5-~5.2
AG-20S-2D M20X1.5 20.0+0.2 10.0 3.0~4.1 EG-16-2G PG16 225+02 98 43~61 A
AG-20S-2E M20X1.5 20.0+0.2 10.0 3.3~43 EG-21-2A PG21  283+0.3 10.8 2.5-~35
AG-20S-2F M20X1.5 20.0+0.2 10.0 3.5~5.2 EG-21-2B | PG21  283+0.3 10.8 3.3~43
AG-20S-2G M20X1.5 20.0+0.2 10.0 4.3~6.1 EG-21-2C PG21 283+0.3 10.8 3.5-5.1
AG-25-2A M25X1.5 25.0+03 152 25~35 EG-21-2D PG21  28.3+0.3 108 4.3~6.1
AG-25-2B M25X1.5 25.0+03 152 3.3~43 EG-21-2E PG21  28.3+0.3 108 5.1~65
AG-25-2C M25X1.5 25.0+0.3 152 35-~5.1 EG-21-2F PG21  28.3+0.3 108 6.4~87
AG-25-2D M25X15 25.0+0.3 152 4.3-~6.1 EG-29-2A | PG29 | 37.0+0.3 10.8 3.6~5.2
AG-25-2E M25X15 25.0+0.3 152 5.1~65 EG-29-2B | PG29 | 37.0+0.3 10.8 5.1~6.5 25pcs
AG-25-2F M25X15 25.0+0.3 15.2 6.4~8.7 EG-29-2C PG29 | 37.0+0.3 10.8 6.4~8.7
AG-255-2A M25X15 25.0+0.3 100 2.5~35 EG-29-2D | PG29 | 37.0+0.3 10.8 7.7~10.0
AG-25S-2B M25X1.5 25.0+0.3 10.0 3.3~43 EG-36-2A PG36  47.0+0.3 15.0 7.0~9.0 10pcs
AG-25S-2C M25X1.5 25.0+0.3 10.0 3.5~5.1 EG-36-2B PG36  47.0+0.3 15.0 11.0~13.0

AG-255-2D| M25X1.5 25.0+0.3 10.0 4.3~6.1
AG-25S5-2E | M25X1.5 25.0+0.3 1 10.0 @ 5.1~6.5
AG-25S5-2F | M25X1.5 25.0+0.3 10.0 6.4~8.7
AG-32-2A | M32X15 32.0+0.3 14.7 3.6~5.2
AG-32-2B | M32X15 32.0+0.3 14.7 5.1~6.5

25pcs
AG-32-2C | M32X1.5 32.0+0.3 14.7 6.4~87
AG-32-2D | M32X1.5 32.0+0.3 14.7 7.7~10.0
AG-40-2A | M40X1.5 40.0+0.3 184 7.0~9.0

10pcs

AG-40-2B  M40X15 40.0+03 184 11.0~13.0
134 BISMER R Bl & 5 (02)2555-1929  £16(02)2556-3336 57(04)2301-1255 ©7(06)787-2239 =1#(07)323-1488



0613 KSS %7,

S =4
2]

#ME . ULAME ZNYLON 66 () > BHNFLR 94V-2 > REZE A O] BE MR (TPE) » R APVC o

Bt : JEZEANSELERE « 5 - KBERRECHE « RIBT - BRRRBSTERNANEREE

BEZA °

[ %2 58 (27L.) MULTI-HOLE NYLON CABLE GLAND ( 2 HOLES)

% | SR ABEERENR L - LIBIREIEZ » BREEEAREE > REBUEBRFEREBREE » WERIFIK » BIEZINEE -

Rk

1.ZHRFLBIRRSET » BER 2

MEiR D TR ~ FEERRAS ©

2 B EARE M —RE R » RECHE - BF -

[SEpA
B

3AEMZBRBERINAEL VAR » EFIRIFAIAIEFRE > &£ g -

X EDFEIBESMAR > SFERRREMN RN | BI5(L) 2R (W) £58(B) BEENN)A

RIESEAAGL-12 ©

PF #71& (GZF)
B 5% AR
Iltem No. Thread
AGJ-14-2A  PF1/4"
AGJ-17-2A  PF3/8"
AGJ-17-2B = PF3/8"
AGJ-17-2C = PF3/8"
AGJ-21-2A  PF1/2"
AGJ-21-2B = PF1/2"
AGJ-21-2C = PF12"
AGJ-21-2D @ PF12"
AGJ-21-2E | PF12"
AGJ-21-2F = PF12"
AGJ-21-2G =~ PF12"
AGJ-27-2A  PF3/4"
AGJ-27-2B | PF3/4"
AGJ-27-2C = PF3/4"
AGJ-27-2D = PF3/4"
AGJ-27-2E = PF3/4"
AGJ-27-2F = PF3/4"
AGJ-34-2A  PF1"
AGJ-34-2B = PF1"
AGJ-34-2C = PF1"
AGJ-34-2D  PF1"

HiRALE
Mounting
Hole

13.2+0.2
16.7+0.2
16.7+0.2
16.7+0.2
21.0+0.2
21.0+0.2
21.0+0.2
21.0+0.2
21.0+0.2
21.0+0.2
21.0+0.2
26.4+0.3
26.4+0.3
26.4+0.3
26.4+0.3
26.4+0.3
26.4+0.3
33.2+0.3
33.2+0.3
33.2+0.3
33.2+0.3

B
RE
L1

8.0

7.9

7.9

7.9
12.9
12.9
12.9
12.9
12.9
12.9
12.9
14.7
14.7
14.7
14.7
14.7
14.7
14.7
14.7
14.7
14.7

EREEME
Cable Range
2.0~3.1
1.6~2.6
2.0~3.1
3.0~4.1
1.6~2.6
2.0~3.0
2.5~35
3.0~4.1
3.3~43
35~52
4.3~6.1
2.5~35
3.3~43
35~5.1
4.3~6.1
5.1~6.5
6.4~8.7
3.6~5.2
5.1~6.5
6.4~8.7
7.7~10.0

12553
Packing

50pcs

25pcs

B 5%
Iltem No.
NPT-14-2A
NPT-38-2A
NPT-38-2B
NPT-38-2C
NPT-12-2A
NPT-12-2B
NPT-12-2C
NPT-12-2D
NPT-12-2E
NPT-12-2F
NPT-12-2G
NPT-34-2A
NPT-34-2B
NPT-34-2C
NPT-34-2D
NPT-34-2E
NPT-34-2F
NPT-1-2A

NPT-1-2B
NPT-1-2C
NPT-1-2D
NPT-114-2A
NPT-114-2B

BATHE
Thread
1/4"-18 NPT
3/8"-18 NPT
3/8"-18 NPT
3/8"-18 NPT
1/2"-14 NPT
1/2"-14 NPT
1/2"-14 NPT
1/2"-14 NPT
1/2"-14 NPT
1/2"-14 NPT
1/2"-14 NPT
3/4"-14 NPT
3/4"-14 NPT
3/4"-14 NPT
3/4"-14 NPT
3/4"-14 NPT
3/4"-14 NPT
1"-11.5 NPT
1"-11.5 NPT
1"-11.5 NPT
1"-11.5 NPT
11/4"-11.5NPT
11/4"-115NPT

NPT I xigiERsE a2

BRILE 184
Mounting RE
Hole L1

133+0.2 7.8
17.2+0.2 14.6
17.2+0.2 146
17.2+0.2 14.6
21.2+0.2 129
21.2+0.2 12.9
21.2+0.2 12.9
21.2+0.2 12.9
21.2+0.2 12.9
21.2+0.2 12.9
21.2+0.2 12.9
26.3+0.3 14.5
26.3+0.3 145
26.3+0.3 14.5
26.3+0.3 14.5
26.3+0.3 14.5
26.3+0.3 14.5
33.2+0.3 14.9
33.2+0.3 14.9
33.2+0.3 14.9
33.2+0.3 14.9
41.9+0.3 18.2
41.9+0.3

FTREAG-12-2A218 »

RS
Cable Range

2.0~3.1
1.6~2.6
2.0~3.1
3.0~4.1
1.6~2.6
2.0~3.0
25~35
3.0~4.1
3.3~43
3.5~52
43~6.1
2.5~35
3.3~43
3.5~5.1
4.3~6.1
5.1~6.5
6.4~8.7
3.6~5.2
5.1~6.5
6.4~8.7
7.7~10
7.0~9.0

18.2 11.0~13.0

REAER—EEERL > BRERREBER  rJEIBERKZMR » BAIK

BN : mm

12553
Packing

§6 ) IT BE X - 50 W B

15

50pcs

25pcs

10pcs

&
4

i P [2H

BSMER R R ED & 55 (02)2555-1929 £36(02)2556-3336 &H1(04)2301-1255 H&R(06)787-2239 =1#(07)323-1488 135



®

0613 KSS ZFEME[EIETH(3FL) MULTI-HOLE NYLON CABLE GLAND (3 HOLES)

i

JUU

WO

R0 BA £ EEM BREXFE HEE N
BHRSE LW B N

METRIC 1% PG RN xupa=m (1 mm
my  gees (WS B mame en my  gges g B8 meme  as
Item No. Thread Hole L1 CableRange  Packing Item No. Thread Hole L1 CableRange  Packing

AG-12-3A  MI2X125 12.0402 79 16-26 EG-7-3A  PG7 125402 7.9 16~26

AG-12L-3A MI2XL5 12.0402 79 16-26 EG-7LS-3A PG7  125+02 7.9 16~26

AG-16-3A MI6XL5 16.0+02 155 16-26 EG-9-3A  PGY9  152+02 82 16~26

AG-16-3B  MI16XL5 160402 155 2.0-30 EG-OL-3A PGY  152+02 147 16~26

AG-16-3C  MI16XL5 160402 155 3.0~42 EG-11-3A PGIl  186+02 7.9 16~26

AG-165-3A MI16XL5 16.0+02 100 1.6-2.6 EG-11-3B  PGI1  186+02 7.9 20~30

AG-165-3B MI16XL5 160402 100 2.0-30 EG-11-3C  PGI1 186402 7.9 3.0~42

@ AG-165-3C M16XL5 160402 100 3.0~42 EG-11L-3A PGI1  186+02 149 16~26
% AG-20-3A  M20XL5 20.0402 150 2.0-30 EG-11L-3B PGI1  186+02 149 20~3.0
2 AG-20-3B M20XL5 200402 150 26~36 EG-11L-3C PGI1  186+02 149 30~42 7

AG-20-3C  M20XL5 20.0+02 150 3.0~42 EG-13-3A PGI35 204+02 89 35-42 = 50pcs

AG-20-3D M20XL5 20.0402 150 35-50 EG-13L-3A PGI35 204402 158 3542 o

AG-203E M20X15 200:02 150 3552 . EG-6-3A PGI6 225102 98 20-30 ;2

AG-20S-3A M20XL5 20.0+02 100 2.0-30 EG-16-3B  PG16 22502 98 26~36

AG-20S-3B M20XL5 20.0+02 100 2.6-36 EG-16-3C  PG16 22502 98 30-42 'S

AG-20S-3C M20XL5 20.0+02 100 3.0-42 EG-16-3D PG16 225:02 98 35-50 2

AG-20S-3D M20XL5 20.0+02 100 35-50 EG-16-3E  PG16  225+02 98 35-52 A

AG-20S-3E M20XL5 20.0+02 100 3.5-52 EG-21-3A PG21  283+03 10.8 26~36

AG-25-3A M25XL5 250403 152 2.6-36 EG-21-3B  PG2l  283+03 108 3.6~52

AG-25-3B  M25XL5 250403 152 36-52 EG-21-3C  PG2l  283+03 108 4862

AG-25-3C  M25XL5 250403 152 4.8-62 EG-21-3D PG21  283+0.3 108 6.2~80

AG-25-3D M25XL5 250403 152 6.2-80 EG-29-3A PG29  37.0+03 108 3.6~52

AG-255-3A M25XL5 250403 100 2.6-36 EG-2938  PG29 370103 108 48-62

AG-255-3B M25XL5 250403 100 3.6~52 EG-29-3C  PG29  37.0+0.3 108 6.2~80

AG-255-3C M25XL5 250403 100 4.8-62 EG-29-3D PG29  37.0+03 108 7.7~100

AG-255-3D M25XL5 250403 100 6.2-80 EG-363A  PG36 470103 150 65-83 o

AG-32-3A  M32XL5 320403 147 36-52 EG-36-3B  PG36  47.0+03 150 7.7~100

AG-32-3B  M32XL5 320403 147 48-62

AG-32-3C  M32XL5 320403 147 6280 P

AG-32-3D M32XL5 320403 147 7.7-10.0

AG-40-3A  M40XL5 400+03 184 65-83

10pcs

AG-40-3B | M40X1.5 40.0+0.3 184 7.7~10.0

136 BISMER R Bl & 5 (02)2555-1929  £16(02)2556-3336 57(04)2301-1255 ©7(06)787-2239 =1#(07)323-1488



0613 KSS %7,

S =4
2]

==
B4

=48
|==Ani)

[ 7€ 88 (3FL) MULTI-HOLE NYLON CABLE GLAND (3 HOLES)

8 I ULEMEZNYLON 66 (£f) » BHNZELR 94V-2 > REZBE AR ¥E8EFE (TPE) » BRAPVC -

Bt : JEZEANSELERE « 538 - XBIERRECHE - RIBTE - BRRBTERREH BEZA °

% | SR ABEERENR L - LIBIREIEZ » BREEEAREE > REBUEBRFEREBREE » WERIFIK » BIEZINEE -

1550 1 LZHRFLBIRRET » BER 2

MEiR D TR ~ FEERRAS ©

2 AR BT M —RERk R - HECERT ~ EF -

[SEpA
B

3AEMZBRBERINAEL VAR » EFIRIFAIAIEFRE > &£ g -

X EDFEIBESMAR > SFERRREMN RN | BI5(L) 2R (W) £58(B) BEENN)A

RIESEAAGL-12 ©

PF #1%& (GHF)
B 5% BAURIE
Iltem No. Thread
AGJ-14-3A | PF1/4"
AGJ-17-3A  PF3/8"
AGJ-17-3B | PF3/8"
AGJ-17-3C = PF3/8"
AGJ-21-3A | PF12"
AGJ-21-3B = PF12"
AGJ-21-3C | PF12"
AGJ-21-3D  PF12"
AGJ-21-3E | PF12"
AGJ-27-3A  PF3/4"
AGJ-27-3B | PF3/4"
AGJ-27-3C = PF3/4"
AGJ-27-3D | PF3/4"
AGJ-34-3A  PF1"
AGJ-34-3B = PF1"
AGJ-34-3C  PF1"
AGJ-34-3D  PF1"

HiRA &
Mounting
Hole

13.2+0.2
16.7+0.2
16.7+0.2
16.7+0.2
21.0+0.2
21.0+0.2
21.0+0.2
21.0+0.2
21.0+0.2
26.4+0.3
26.4+0.3
26.4+0.3
26.4+0.3
33.2+0.3
33.2+0.3
33.2+0.3
33.2+0.3

B2
RE
L1

8.0

7.9

7.9

7.9
12.9
12.9
12.9
12.9
12.9
14.7
14.7
14.7
14.7
14.7
14.7
14.7
14.7

BRI
Cable Range
1.6~2.6
1.6~2.6
2.0~3.0
3.0~4.2
2.0~3.0
2.6~3.6
3.0~4.2
3.5~5.0
3.5~5.2
2.6~3.6
3.6~5.2
4.8~6.2
6.2~8.0
3.6~5.2
4.8~6.2
6.2~8.0
7.7~10.0

(253

Packing

50pcs

25pcs

B 5%
Iltem No.
NPT-14-3A
NPT-38-3A
NPT-38-3B
NPT-38-3C
NPT-12-3A
NPT-12-3B
NPT-12-3C
NPT-12-3D
NPT-12-3E
NPT-34-3A
NPT-34-3B
NPT-34-3C
NPT-34-3D
NPT-1-3A

NPT-1-3B
NPT-1-3C
NPT-1-3D
NPT-114-3A
NPT-114-3B

AR
Thread
1/4"-18 NPT
3/8"-18 NPT
3/8"-18 NPT
3/8"-18 NPT
1/2"-14 NPT
1/2"-14 NPT
1/2"-14 NPT
1/2"-14 NPT
1/2"-14 NPT
3/4"-14 NPT
3/4"-14 NPT
3/4"-14 NPT
3/4"-14 NPT
1"-11.5 NPT
1"-11.5 NPT
1"-11.5 NPT
1"-11.5 NPT
11/4"-115NPT
11/4"-115NPT

HiRALE
Mounting
Hole

13.3+0.2
17.2+0.2
17.2+0.2
17.2+0.2
21.2+0.2
21.2+0.2
21.2+0.2
21.2+0.2
21.2+0.2
26.3+0.3
26.3+0.3
26.3+0.3
26.3+0.3
33.2+0.3
33.24+0.3
33.240.3
33.24+0.3
41.9+0.3
41.9+0.3

NPT fRIg xigiERsp R

24
RE
L1

7.8
14.6
14.6
14.6
12.9
12.9
12.9
12.9
12.9
14.5
145
14.5
145
14.9
14.9
14.9
14.9
18.2
18.2

REAER—EEERL > BRERREBER  rJEIBERKZMR » BAIK

FTREAG-12-3A21ME »

BN . mm

12553
Packing

BEEEIME
Cable Range
1.6~2.6
1.6~2.6
2.0~3.0
3.0~4.2
20~30 Z&
2.6~3.6 -3
30~42 o
3.5~5.0 i
3.5~5.2 g
2.6~3.6 P
36-52 2
4862 A
6.2~80 &
36~52 12
4.8~6.2 g
6.2~8.0

7.7~10.0

6.5~8.3

7.7~10.0

&
4

i P [2H

BSMER R R ED & 55 (02)2555-1929 £36(02)2556-3336 &H1(04)2301-1255 H&R(06)787-2239 =1#(07)323-1488 137



®

0613 KSS ZF|,TB4EE EFE(4FL) MULTI-HOLE NYLON CABLE GLAND (4 HOLES)

(AL

i

JUU

#ig Bh EE  REM REE BEEE
BHEAS L W B

METRIC 1§ PG fii& xapazmg A mm
my  ogees 00 B mmme es my  gwwe R BE seme  as
Iltem No. Thread Hole L1 Cable Range  Packing ltem No.  Thread Hole L1 CableRange  Packing

AG-12-4A MI12X125 12.0+0.2 79 1.3~23 EG-7-4A PG7 125+02 79 13~23

AG-12L-4A M12X15 120+0.2 79 1.3~23 EG-7LS-4A PG7 125+02 79 13~23

AG-16-4A M16X15 16.0+0.2 155 1.3~23 EG-9-4A PG9 152+0.2 82 1.3~23

AG-16-4B M16X15 16.0+0.2 155 1.4~24 EG-9L-4A  PG9 15.2+0.2 147 1.3~23

AG-16-4C | M16X15 16.0+0.2 155 | 2.4~34 EG-11-4A PGl11 186+0.2 79 1.3-23

AG-16S-4A M16X15 16.0+0.2 100 1.3~23 EG-11-4B PGl11 186+0.2 7.9 14-~24

AG-16S-4B M16X1.5 16.0+0.2 10.0 | 1.4~24 EG-11-4C PGl11 186+0.2 7.9 24-~34

.@- AG-16S-4C M16X1.5 16.0+0.2 10.0 2.4~34 EG-11L-4A PG11  186+0.2 149 1.3-~23
£ AG-20-4A M20X15 20.0+0.2 150 1.4~24 EG-11L-4B PG11 18.6+0.2 149 14-~24
E“E AG-20-4B M20X1.5 20.0+0.2 150 1.6~25 EG-11L-4C PG11 18.6+0.2 149 24-~34

AG-20-4C M20X1.5 20.0+0.2 150 24~34 EG-13-4A PG135 20.4+02 89 3.2-~42

AG-20-4D M20X1.5 20.0+0.2 150 25~3.6 EG-13L-4A PG135 20.4+02 158 3.2~42 7N

AG-20-4E  M20X15 20.0+0.2 150 3.0~4.2 EG-16-4A PGl6  225+0.2 98 14~24 g 50pcs

AG-20-4F M20X1.5 20.0+0.2 150 3.4~438 EG-16-4B  PG16  225+0.2 98 16-25 o

AG-20S-4A M20X1.5 20.0+0.2 100 | 1.4~24 EG-16-4C PG16  225+02 98 24-~34 =

AG-20S-4B M20X1.5 20.0+0.2 10.0 1.6~25 EG-16-4D PG16 225+0.2 98 25-36

AG-20S-4C M20X1.5 20.0+0.2 100 | 2.4~34 50pcs EG-16-4E PGl16  225+0.2 98 3.0~4.2 g

AG-20S-4D M20X1.5 20.0+0.2 10.0 2.5~3.6 EG-16-4F PG16  225+0.2 9.8 3.4-~48

AG-20S-4E M20X1.5 20.0+0.2 100 3.0~4.2 EG-21-4A PG21  283+03 108 16~25 A

AG-20S-4F M20X1.5 20.0+0.2 10.0 3.4~4.8 EG-21-4B PG21  283+0.3 108 2.0-3.1

AG-25-4A | M25X15 25.0+0.3 152 | 1.6~25 EG-21-4C PG21  283+0.3 108 25-~3.6

AG-25-4B  M25X1.5 25.0+0.3 152 20-~3.1 EG-21-4D PG21  283+0.3 108 3.0~4.1

AG-25-4C | M25X15 25.0+0.3 152 | 2.5~3.6 EG-21-4E PG21  283+0.3 10.8 3.4~48

AG-25-4D M25X1.5 25.0+0.3 152 3.0~4.1 EG-21-4F PG21  283+0.3 108 3.8~5.2

AG-25-4E | M25X15 25.0+0.3 15.2 | 3.4~438 EG-21-4G | PG21  283+0.3 108 5.6~7.3

AG-25-4F M25X1.5 25.0+0.3 152 3.8~5.2 EG-29-4A PG29  37.0+0.3 108 2.0-3.1

AG-25-4G  M25X15 25.0+0.3 152 5.6~7.3 EG-29-4B PG29 37.0+0.3 108 3.0~4.1

AG-25S-4A M25X1.5 25.0+0.3 100 1.6~25 EG-29-4C PG29 37.0+0.3 108 3.8~52 25pcs

AG-25S-4B M25X1.5 25.0+0.3 10.0 2.0~3.1 EG-29-4D PG29 37.0+0.3 108 56~7.3

AG-25S5-4C M25X15 25.0+0.3 10.0 25~3.6 EG-29-4E PG29 37.0+0.3 108 7.0~9.0

AG-25S5-4D M25X15 25.0+0.3 100 3.0~4.1 EG-36-4A PG36  47.0+0.3 15.0 10.0~12.0 10pcs

AG-255-4E M25X1.5 25.0+0.3 10.0 3.4~4.8
AG-255-4F M25X1.5 25.0+0.3 10.0 3.8~5.2
AG-255-4G M25X1.5 25.0+0.3 10.0 5.6~7.3
AG-32-4A | M32X15 32.0+0.3 147 20~3.1
AG-32-4B | M32X1.5 32.0+0.3 147 3.0~4.1
AG-32-4C | M32X1.5 32.0+0.3 147 3.8~52 2bpcs
AG-32-4D | M32X1.5 32.0+0.3 14.7 5.6~7.3
AG-32-4E | M32X1.5 32.0+0.3 14.7 7.0~9.0
AG-40-4A | M40X1.5 40.0+0.3 184 10.0~12.0 10pcs

138 BN R B & 5 (02)2555-1929  £36(02)2556-3336  &H1(04)2301-1255 AF(06)787-2239 =1#(07)323-1488



0613 KSS Z ¥ E4E[E E5E (4FL) MULTI-HOLE NYLON CABLE GLAND ( 4 HOLES)

ME :
& :
%
Rk

ULEMEZNYLON 66 () > fHNFLR 94V-2 » KEBE AT EEEEFE(TPE) » B/ 4PVC o

AIEZIERANES B ER « £5H5 « KIFERMRICAR - BT  BRRELTERURNEREBET A °

SR ABERER L > WIRBEEZ  BREBEEAKREE » RELIEREFHBREE » WERIRHK « BREZINEE

1.ZBRFLAVERET » AR EEEBEESER—EAETEEL » BEERGEZEELE » AERIHERRKZYME » Ak
&R D TBF ~ BRIERLES ©

2. AEREATRER M —BERREY » SEFCEEF ~ FF) o

3AEMZBEREMIMEATVER » EFIRETEERE » BB -

% BENFMFTEESSHRE > AEANEEMN ESMASE L BIg (L) BR (W) 2538 (B) IBZEE(N)F - 5THEAG-12-4A1218 »
RIESEAAGL-12 ©

PF #R1% (G5F) NPT fRH&  smigRsra2H B mm
my  geme o B gmme ex ma ogees 000 B amema as
Item No. Thread Hole ng CableRange  Packing Iltem No. Thread Hole ng CableRange  Packing

AGJ-14-4A  PFy4" 13.2+02 80 1.3~23 NPT-14-4A | 1/4"-18 NPT 13.3+0.2 7.8 13~23
AGJ-17-4A  PF38" 16.7+0.2 79 13~23 NPT-38-4A 3/8"-18 NPT 17.2+0.2 146 1.3~2.3
AGJ-17-4B  PF3/8" 16.7+0.2 79 14~24 NPT-38-4B | 3/8"-18 NPT 17.2+0.2 146 14~24
AGJ-17-4C  PF3/8" 16.7+0.2 79 24~34 NPT-38-4C 3/8"-18 NPT 17.2+0.2 146 24~3.4
AGJ-21-4A  PF12" 21.0+0.2 129 1.4~24 NPT-12-4A | 12"-14 NPT 21.2+0.2 129 14~24
AGJ-21-4B  PF12" 21.0+0.2 129 1.6~25 NPT-12-4B | 1/2"-14 NPT 21.2+0.2 129 16~25
AGJ-21-4C  PF12" 21.0+0.2 129 24~34 NPT-12-4C | 1/2"-14 NPT 21.2+0.2 129 24-~34
AGJ-21-4D  PF12" 21.0+0.2 129 25~36 NPT-12-4D | 1/2"-14 NPT 21.2+0.2 129 25-~3.6 7
AGJ-21-4E  PF12" 21.0+0.2 129 3.0~42 50pcs | NPT-12-4E 1/2"-14 NPT 21.2+0.2 129 3.0~4.2 E 50pcs
AGJ-21-4F  PF12" 21.0+0.2 129 3.4~48 NPT-12-4F 1/2"-14 NPT 21.2+0.2 129 34-~48 om
AGJ-27-4A  PF3/4" 26.4+03 147 1.6~25 NPT-34-4A 3/4"-14 NPT 26.3+0.3 145 16~25 A~
AGJ-27-4B  PF3/4" 26.4+03 147 2.0-~3.1 NPT-34-4B 3/4"-14NPT 26.3+0.3 145 20~3.1 Gpft
AGJ-27-4C  PF3/4" 26.4+03 147 25~3.6 NPT-34-4C 3/4"-14 NPT 26.3+0.3 145 25-36 g
AGJ-27-4D  PF3/4" 26.4+03 147 3.0~4.1 NPT-34-4D | 3/4"-14 NPT 26.3+0.3 145 3.0~4.1 B
AGJ-27-4E  PF3/4" 26.4+03 147 3.4~48 NPT-34-4E | 3/4"-14 NPT 26.3+0.3 145 3.4~48
AGJ-27-4F  PF3/4" 26.4+03 147 3.8~5.2 NPT-34-4F | 3/4"-14 NPT 26.3+0.3 145 3.8~5.2 &
AGJ-27-4G  PF3/4" 26.4+03 147 56-~73 NPT-34-4G | 3/4"-14 NPT | 26.3+0.3 145 5.6~7.3 i3
AGJ-34-4A  PF1" 332403 147 2.0-~3.1 NPT-1-4A  1"-115NPT 332+03 149 20-3.1 18
AGJ-34-4B  PF1" 332403 147 3.0~4.1 NPT-1-4B | 1"-115NPT 33.2+0.3 149 3.0~4.1
AGJ-34-4C  PF1" 33.2+03 147 3.8~52 25pcs NPT-1-4C 1"-115NPT 33.2+0.3 149 3.8~52 25pcs
AGJ)-34-4D PF1"  33.2+03 147 56-~73 NPT-1-4D | 1"-115NPT 33.2+0.3 149 5.6~7.3
AGJ-34-4E  PF1"  33.2+03 147 7.0~9.0 NPT-1-4E  1"-11.5NPT 33.2+0.3 14.9 7.0~9.0
NPT-114-4A 114"-115NPT 41.9+0.3 18.2/10.0~12.0 10pcs

&
4

i P [2H

BSMER R R ED & 55 (02)2555-1929 £36(02)2556-3336 &H1(04)2301-1255 H&R(06)787-2239 =1#(07)323-1488 139



f ==
— \% 0%
— OO0
I
2l BmE A RET KEE e
Ies LW B N
METRIC #31& PG 1 xampazm (I : mm
my  gwes SRS T mmme as my  gwes JEAE T mmese  es
Iltem No. Thread Hole L1 CableRange  Packing Item No. Thread Hole L1 CableRange  Packing
AG-16-5A |M16X1.5 16.0+0.2 155 2.0~2.8 EG-11-5A PG11 186+0.2 79 2.0~28
AG-16S-5A M16X1.5 16.0+0.2 10.0 2.0~2.8 EG-11L-5A PG11 18.6+0.2 149 2.0~28
AG-20-5A |M20X1.5 20.0+0.2 150 1.3~2.0 EG-16-5A PG16 225+0.2 98 1.3~2.0
AG-20-5B M20X1.5 20.0+0.2 150 2.0~2.8 EG-16-5B PG16 | 225+0.2 9.8 2.0~28
AG-20-5C M20X1.5 20.0+0.2 150 2.0~3.1 EG-16-5C PG16 225+0.2 98 2.0~3.1
AG-20-5D M20X1.5 20.0+0.2 150 3.0~4.1 EG-16-5D PG16 225+0.2 9.8 3.0~4.1 ZiN
AG-20S-5A  M20X1.5 20.0+0.2 10.0 1.3~2.0 EG-21-5A PG21 28.3+0.3 108 1.3~2.0 J’_% 50pcs
E AG-20S-5B M20X1.5 20.0+0.2 10.0 2.0~2.8 EG-21-5B PG21 283+0.3 108 20~3.1 4
% AG-20S-5C | M20X1.5 20.0+0.2 10.0 20~3.1 EG-21-5C PG21 28.3+0.3 108 2.6~3.6 F
s AG-20S-5D M20X1.5 20.0+0.2 10.0 3.0~4.1 EG-21-5D PG21 28.3+0.3 108 3.0~4.1 B
AG-25-5A |M25X1.5 25.0+0.3 152 1.3~2.0 50pcs EG-21-5E PG21 28.3+0.3 108 3.6~4.6 h
AG-25-5B |M25X1.5 25.0+0.3 15.2 20-~3.1 EG-21-5F PG21 28.3+0.3 108 4.6~6.0
AG-25-5C |M25X1.5 25.0+0.3 15.2 2.6-~3.6 EG-29-5A PG29 37.0+0.3 108 2.6~3.6 h
AG-25-5D 'M25X1.5 25.0+0.3 15.2 3.0~4.1 EG-29-5B PG29 37.0+0.3 108 3.6~4.6 25pcs
AG-25-5E | M25X1.5 25.0+0.3 15.2 3.6~4.6 EG-29-5C PG29 37.0+0.3 10.8 4.6~6.0
AG-25-5F 'M25X1.5 25.0+0.3 15.2 4.6~6.0 EG-29-5D PG29 37.0+0.3 108 6.0~8.0
AG-25S5-5A  M25X1.5 25.0+0.3 10.0 1.3~2.0 EG-36-5A PG36 47.0+0.3 15.0 6.5~8.3 10pcs
AG-25S-5B M25X1.5 25.0+0.3 10.0 20~3.1
AG-255-5C | M25X1.5 25.0+0.3 10.0 2.6~3.6
AG-25S-5D M25X1.5 25.0+0.3 10.0 3.0~4.1
AG-25S-5E | M25X1.5 25.0+0.3 10.0 3.6~4.6
AG-255-5F M25XL15 250403 100 4.6~6.0
AG-32-5A M32X15 32.0+0.3 14.7 2.6~3.6
AG-32-5B M32X15 32.0+0.3 14.7 3.6~4.6
25pcs

AG-32-5C M32X15 32.0+03  14.7 4.6~6.0
AG-32-5D |M32X15 32.0+0.3 147 6.0~8.0
AG-40-5A M40X15 40.0+03 184 6.5~83 @ 10pcs

140 BN R B & 5 (02)2555-1929  £36(02)2556-3336  &H1(04)2301-1255 AF(06)787-2239 =1#(07)323-1488



0613 KSS ZfLEBABEIE T (5FL) MULTI-HOLE NYLON CABLE GLAND (5 HOLES)

ME :
& :
%
Rk

ULEMEZNYLON 66 () > fHNFLR 94V-2 » KEBE AT EEEEFE(TPE) » B/ 4PVC o

AIEZIERANES B ER « £5H5 « KIFERMRICAR - BT  BRRELTERURNEREBET A °

SR ABERER L > WIRBEEZ  BREBEEAKREE » RELIEREFHBREE » WERIRHK « BREZINEE

1.ZBRFLAVERET » AR EEEBEESER—EAETEEL » BEERGEZEELE » AERIHERRKZYME » Ak
&R D TBF ~ BRIERLES ©

2. AEREATRER M —BERREY » SEFCEEF ~ FF) o

3AEMZBRBERINAEL VAR » EFIRIFAIAIEFRE > &£ g -

X EDFFIBE SR > SFERRREMN RN | BI5(L) 2R (W) £58(B) BEENN)A

RUEEAAGL-16 ©

FTREAG-16-5A21E »

PF #81& (GX) NPT fR1& cigksp R i mm
meyr  gwan BOE BN e wr o my ggme TRE B gnen o
Iltem No. Thread Hole e le CableRange  Packing Item No. Thread Hole e ng CableRange Packing

AGJ-17-5A  PF3/8" 167402 79 | 2.0-~238 NPT-38-5A 3/8"-18 NPT 16.7~17.0 14.6 17.2+0.2
AGJ-21-5A | PF12" 21.0+0.2 129 1.3~2.0 NPT-12-5A 1/2"-14 NPT 21.2~21.5 12.9 21.2+0.2
AGJ-21-5B  PF12" 21.0+0.2 129 2.0~28 NPT-12-5B |1/2"-14 NPT 21.2~21.5/12.9 21.2+0.2
AGJ-21-5C  PF12" 21.0+0.2 129 2.0-~3.1 NPT-12-5C 1/2"-14 NPT 21.2~21.5 129 21.2+0.2 N
AGJ-21-5D  PF12" | 21.0+0.2 129 3.0~4.1 NPT-12-5D 1/2"-14 NPT 21.2~215 129 21.2+0.2 E
AGJ-27-5A  PF3/4" 26.4+0.3 147 @ 13~20 50pcs | | NPT-34-5A 3/4"-14 NPT 26.3~26.6 14.5 26.3+0.3 §4 50pcs
AGJ-27-5B = PF3/4" | 26.4+0.3 14.7 2.0-~3.1 NPT-34-5B 3/4"-14 NPT 26.3~26.6 14.5 26.3+0.3 R
AGJ-27-5C = PF3/4" 26.4+03 147 2.6~3.6 NPT-34-5C 3/4"-14 NPT 26.3~26.6 14.5 26.3+0.3 B
AGJ-27-5D  PF3/4" | 26.4+0.3 147 3.0~4.1 NPT-34-5D 3/4"-14 NPT 26.3~26.6 14.5 26.3+0.3
AGJ-27-5E = PF3/4" 26.4+0.3 147 @ 3.6~4.6 NPT-34-5E 3/4"-14 NPT 26.3~26.6 14.5 26.3+0.3
AGJ-27-5F = PF3/4" 264+03 147 4.6~6.0 NPT-34-5F |3/4"-14 NPT 26.3~26.6 14.5 26.3+0.3 A
AGJ-34-5A  PF1" 33.2+03 147 26~3.6 NPT-1-5A  1"-11.5NPT 33.2~33.6  14.9 33.2+0.3 K
AGJ-34-5B  PF1" 33.2+03 147 3.6~4.6 25pcs NPT-1-5B | 1"-11.5NPT 33.2~33.6 14.9 33.2+0.3 E,% 25pcs
AGJ-34-5C  PF1" 33.2+03 147 4.6~6.0 NPT-1-5C  1"-11.5NPT 33.2~33.6 14.9 33.2+0.3 1§
AGJ-34-5D  PF1"  33.2+03 147 6.0~8.0 NPT-1-5D | 1"-11.5NPT 33.2~33.6 14.9 33.2+0.3
NPT-114-5A 114"-115NPT 41.9~42.3 18.2 41.9+0.3 10pcs

&
4

i P [2H

BSMER R R ED & 55 (02)2555-1929 £36(02)2556-3336 &H1(04)2301-1255 H&R(06)787-2239 =1#(07)323-1488 141



S i} I

ME :
R :
&
R

AERS S AR BBk

> Hens

i TR ~ FEAEAAS o
2 AER AR M —RE R » RECHE - BF -
3AEMmZBRBERINAL VAR » EFIRIFAIRIEFRE > & - i -

X BNFEFIBR MR FERREREIN L RASE | BI5(L) BR (W) £52(B) BERENN)A

RUEEA AGL-16 ©

METRIC R#&

B 5%
Iltem No.
AG-16-6A
AG-16S-6A
AG-20-6A
AG-20-6B
AG-20S-6A
AG-20S-6B
AG-25-6A
AG-25-6B
AG-25-6C
AG-25-6D
AG-25S-6A
AG-25S-6B
AG-25S-6C
AG-25S-6D
AG-32-6A
AG-32-6B
AG-32-6C

PG #1&
il
Item No.
EG-11-6A
EG-11L-6A
EG-16-6A
EG-16-6B
EG-21-6A
EG-21-6B
EG-21-6C
EG-21-6D
EG-29-6A
EG-29-6B
EG-29-6C

BAURIE
Thread
M16X1.5
M16X1.5
M20X1.5
M20X1.5
M20X1.5
M20X1.5
M25X1.5
M25X1.5
M25X1.5
M25X1.5
M25X1.5
M25X1.5
M25X1.5
M25X1.5
M32X1.5
M32X1.5
M32X1.5

HIRAE
Mounting
Hole

16.0+0.2
16.0+0.2
20.0+0.2
20.0+0.2
20.0+0.2
20.0+0.2
25.0+0.3
25.0+0.3
25.0+0.3
25.0+0.3
25.0+0.3
25.0+0.3
25.0+0.3
25.0+0.3
32.0+0.3
32.0+0.3
32.0+0.3

XEBRAIRE

EAURAG
Thread
PG11
PG11
PG16
PG16
PG21
PG21
PG21
PG21
PG29
PG29
PG29

iR &
Mounting
Hole

18.6+0.3
18.6+0.3
22.5+0.3
22.5+0.3
28.3+0.3
28.3+0.3
28.3+0.3
28.3+0.3
37.0+0.3
37.0+0.3
37.0+0.3

]

0613 KSS ZF|.E!

B
RE
L1

7.9
14.9

9.8

9.8
10.8
10.8
10.8
10.8
10.8
10.8
10.8

)

[\

TR AEENERLE - LIRBEEZ - Bl
1.ZHGLBIRS

B
RE
L1

15.5
10.0
15.0
15.0
10.0
10.0
15.2
15.2
15.2
15.2
10.0
10.0
10.0
10.0
14.7
14.7
14.7

+ A
Ha

R

7]

S
T

BREEIM
Cable Range
1.4~2.1
1.4~2.1
1.3~2.0
2.0~3.0
1.3~2.0
2.0~3.0
1.3~2.0
2.0~3.0
2.6~3.6
3.6~5.2
1.3~2.0
2.0~3.0
2.6~3.6
3.6~5.2
2.6~3.6
3.6~5.2
5.6~7.0

BRI
Cable Range
1.4~2.1
1.4~2.1
1.3~2.0
2.0~3.0
1.3~2.0
2.0~3.0
2.6~3.6
3.6~5.2
2.6~3.6
3.6~5.2
5.6~7.0

23

> Bo Wt B+

iy

==
E5E:

EE—EREEEL > EEERRE 2 BEE » TJEIPERKZMR » EAIK

ik
Packing

50pcs

25pcs

253

Packing

50pcs

25pcs

18
L W

i

(AL

0e®

B 5%
Iltem No.
NPT-38-6A
NPT-12-6A
NPT-12-6B
NPT-34-6A
NPT-34-6B
NPT-34-6C
NPT-34-6D
NPT-1-6A
NPT-1-6B
NPT-1-6C

EE  REM
B

JUU

PF #i1& (GH)
B 5% AR
Item No. Thread
AGJ-17-6A  PF3/8"
AGJ-21-6A  PF1/2"
AGJ-21-6B  PF1/2"
AGJ-27-6A  PF3/4"
AGJ-27-6B  PF3/4"
AGJ-27-6C  PF3/4"
AGJ-27-6D  PF3/4"
AGJ-34-6A  PF1"
AGJ-34-6B  PF1"
AGJ-34-6C  PF1"

AR
Thread
3/8"-18 NPT
1/2"-14 NPT
1/2"-14 NPT
3/4"-14 NPT
3/4"-14 NPT
3/4"-14 NPT
3/4"-14 NPT
1"-11.5 NPT
1"-11.5 NPT
1"-11.5 NPT

REE

ULATE ZNYLON 66 (££) > BHNELR 94V-2 » BB A AR EEE(TPE) » R APVC o
AEZEANSEARER « 1ZHHE - KIBIERFEL « KB - GRREEERUINEEEEBEEZA °
FSEAKRZE » REBELUBRBEBRHEBRERE » WIERIF5K - FHEZINEE ©

i

HIRFLE B
Mounting RE
Hole L1

16.7+0.2 7.9
21.0+0.2 129
21.0+0.2 129
26.4+0.3 14.7
26.4+0.3 14.7
26.4+0.3 14.7
26.4+0.3 14.7
33.2+0.3 14.7
33.2+0.3 14.7
33.2+0.3 14.7

NPT R xiigpsp o=

B
RE
L1

14.6
12.9
12.9
14.5
14.5
14.5
14.5
14.9
14.9
14.9

HRAE
Mounting
Hole

17.2+0.2
21.2+0.2
21.2+0.2
26.3+0.3
26.3+0.3
26.3+0.3
26.3+0.3
33.2+0.3
33.2+0.3
33.2+0.3

FTREAG-12-6AIZME

HEE L]
N

-

TEBH(6FL) MULTI-HOLE NYLON CABLE GLAND ( 6 HOLES)

B : mm

BREEIM
Cable Range
1.4~2.1
1.3~2.0
2.0~3.0
1.3~2.0
2.0~3.0
2.6~3.6
3.6~5.2
2.6~3.6
3.6~5.2
5.6~7.0

EREEIM
CableRange P

1.4~2.1
13-20 &
20-30 &
(u]u]
13-20
2.0~3.0 i
2.6~3.6 E
3.6~5.2 A
T %
36~52 %
g
5.6~7.0

253

Packing

50pcs

25pcs

253

acking

50pcs

25pcs

142 BN R B & 5 (02)2555-1929  £36(02)2556-3336  &H1(04)2301-1255 AF(06)787-2239 =1#(07)323-1488



0613 KSS ZF|,T4E[E 258 (7FL) MULT-HOLE NYLON CABLE GLAND ( 7 HOLES)

ME :
R :
&
R

rLl*

MRS 50
—
@)
I =6
1208 BA A KEM HREXE HEE L]
RS LW B N

ULEMEZNYLON 66 () > [HNHFLR 94V-2 » KEBE AAIEEE4FE(TPE) » B/ 4APVC

AEZEANESREICELS « 55178 - KFERFELE « RIB - BSREETESUNNEREEBET A °

S ARBERER L LIBIBEEZ » BREBEEAKRER » RELIEREFHBRETE » WERIRHK « BREZINEE

1.ZH4RFLAR ) BERZEBERAESTER—EREEL » BECERGE BB > nERRRERKZME » EaK
Mg D TBF ~ BRIERES ©

2. ANEEEATRER M —RE R A » SEFCEEF ~ FF) o

3AERZBRERINMESRNIBEE » EFIRIERNAIZEERE > B~ BfE -

X BORTHES S  AEFEEIN LSRN 1208 BR (W) REE(B) BERIHE(IN)FI : 5THBAG-12-7A1R1E »
RUEEA AGL-20 ©

METRIC #R1& PF 151 (GX) i < mm
mer g ot B0 mema e my  gmwm o B0 mmme s
Iltem No. Thread Hole L1 Cable Range Packing Item No. Thread Hole L1 CableRange  Packing

AG-20-7A  M20X15 20.0+0.2 15.0 1.3~20 AGJ-21-7A  PF12"  21.0+02 129 1.3~20
AG-20-7B M20X15 20.0+0.2 15.0 2.0-~3.0 AGJ-21-7B  PF1/2"  21.0+0.2 129 2.0-~3.0
AG-20S-7A M20X15 20.0+0.2 10.0 1.3~2.0 AGJ-27-7A  PF3/4"  26.4+03 14.7 13~2.0 | 50pcs
AG-20S-7B M20X1.5 20.0+0.2 10.0 2.0~3.0 AGJ-27-7B  PF3/4"  26.4+03 14.7 2.0-~3.0
AG-25-7A  M25X15  25.0+03 15.2 1.3-~20 50pcs AGJ-27-7C  PF3/4" 26.4+03 | 14.7 2.6~3.6
AG-25-7B  M25X15 25.0+03 152 2.0-~3.0 AGJ-34-7A  PF1" 33.240.3 14.7 26~3.6 25pcs
AG-25-7C M25X15  25.0+03 15.2 2.6~3.6 AGJ-34-7B  PF1" 33.2+0.3 14.7 4.6~6.0
AG-25S-7A  M25X15 25.0+03 10.0 1.3~2.0

AG-25S-7B M25X15 25.0+03 10.0 2.0~3.0

AG-25S-7C M25X15 25.0+03 10.0 2.6~3.6

AG-32-7A  M32X15 32.0+03 14.7 26-~36 25pcs

AG-32-7B  M32X15 32.0+03 14.7 4.6~6.0
PG g xzRazm NPT M8  imigran a5

my  gwws JOAE B spme as mg  gwes OO0 B gmema e
ltem No. = Thread Hole L1 CableRange  Packing Item No. Thread Hole L1 Cable Range  Packing
EG-16-7A | PG16 | 225+0.2 9.8 13~20 Z& NPT-12-7A 1/2"-14 NPT 21.2+0.2 12.9 13~20 Z
EG-16-7B PG16 225+02 9.8 20-~30 g NPT-12-7B 1/2"-14NPT 21.2+0.2 129 2.0~30 o
EG-21-7A  PG21 | 283+0.3 10.8 1.3~2.0 pjf 50pcs NPT-34-7A 3/4"-14 NPT 26.3+0.3 14.5 1.3~2.0 -~ 50pcs
EG-21-7B  PG21 283+03 10.8 20-30 NPT-34-7B 3/4"-14 NPT 26.3+0.3 14.5 2.0~3.0 g
EG-21-7C PG21 283+03 108 26-36 Mi NPT-34-7C 3/4"-14 NPT 26.3+0.3 14.5 26~36 A
EG-29-7A PG29 37.0+0.3 10.8 2.6~3.6 2 NPT-1-7A 1"-115NPT 33.2+0.3 14.9 2.6~3.6 &
R 25pcs oz 25pcs

EG-29-7B = PG29 37.0+0.3 10.8 4.6~6.0

NPT-1-7B  1"-11.5NPT 33.2+0.3 14.9 4.6~6.0 1§

i P [2H

&
4

EISMERAREIE 5 (02)2555-1929  &75(02)2556-3336 &H(04)2301-1255 A7(06)787-2239 =ik (07)323-1488 143



®

S it 2

0611 KSS fEFEIZME NYLON LOCK NUT

M8  ULAZNYLON 66 (Ef)

> BINEEAR 94V-2 o

RS

METRIC #R#& PG #1& B mm
B 58 RAURE E & 255 B 5% BEURIE ' @& 23
Item No. External thread W H Packing Item No. External thread W H Packing

AGL-12 M12x1.25 17.0 5.2 EGL-7 PG7 191 5.1
AGL-12L M12x1.5 170 5.2 EGL-7LS PG7 156 5.1
AGL-16 M16x1.5 218 5.2 50pcs EGL-9 PG9 210 5.1
AGL-20 M20x1.5 266 6.0 EGL-11 PG11 240 5.1 50pcs
AGL-25 M25x1.5 33.0 6.7 EGL-13.5 PG13.5 270 6.1
AGL-32 M32x1.5 417 8.0 25pcs EGL-16 PG16 300 6.1
AGL-40 M40x1.5 483 9.0 EGL-21 PG21 360 7.1
AGL-50 M50x1.5 58.8 9.8 10pcs EGL-29 PG29 46.2 8.0 25pcs
AGL-63 M61x1.5 66.0 10.8 EGL-36 PG36 590 7.8
AGL-63L M63x1.5 73.0 110 EGL-42 PG42 65.0 7.8 10pcs

PF 3218 (GHF) EGL-48 PG48 695 7.8

R 98 B ra R = B o | EGHL-11  PG11 1239 52  50pcs
Item No. External thread W H Packin
AGL-20F PF 172" 26.2 6.6 50pcsg NPT #3245
B 5% IRARI E = 2k

AGJL-14 PF 1/4" 170 5.1 ltem No.  External thread W H Packing
AGJL-17 PF 3/8" 220 5.2 NPTL-14 NPT 1/4" 170 5.1
AGJL-21 PF 1/2" 27.0 6.1 50pcs NPTL-38 NPT 3/8" 220 5.2 50pcs
AGJL-58 PF 5/8" 268 6.0 NPTL-12 NPT 1/2" 270 6.1
AGJL-27 PF 3/4" 330 7.1 NPTL-34 NPT 3/4" 330 7.1
AGJL-34 PF 1" 41.6 81  25pcs NPTL-1 NPT 1" 422 8.1 25pcs
AGJL-112 PF 1 12" 585 9.8 10pcs NPTL-114 NPT 1 1/4" 488 9.0 10pcs
AGJL-2 PF 2" 72.3  10.8

0612 KSS E4E[EEHEPIZEZETH NYLON CABLE GLAND SEALING PLUG%

B : mm
(e ® 0D 0Dl H BERETHE Pgﬁg
BPA-060 10.2 6.0 15.5 AG-12,EG-7, AGJ-14, NPT-14&7%I
BPA-095 156 9.5 155 AG-16,EG-11, AGJ-17, NPT-38%&5! 50pcs
BPA-135 19.6 13.5 16.5 AG-20, EG-16, AGJ-21, NPT-12%&5!
BPA-175 24.4 17.5 17.0 AG-25,EG-21, AGJ-27, NPT-34%&5!
BPA-245 32,5 245 17.5 AG-32,EG-29, AGJ-34,NPT-1&%| 25pcs
BPA-315 415 315 18.0 AG-40, NPT-114, EG-36%&5%!
BPA-389 47.2 38.9 18.0 AG-50,EG-42%5! 10pcs
BPA-435 52.5 435 19.0 AG-63%7%|

#E : UL ZNYLON 66 (RE) 5 BINFR 94V-2 ©
R %ﬁiﬁifaﬁﬂﬁéﬁﬁi?ﬁﬁﬁﬁﬁ ) EECARAT > FIRRBERERRE > U%R
CSIKEBA e

< 0.D1->»|

144 BN R R B 55 (02)2555-1929  £16(02)2556-3336  &H1(04)2301-1255 &7#(06)787-2239 =1#(07)323-1488



0612 KSS BHEEE

BAPIZEZEHE NYLON CABLE GLAND SEALING PLUG @ &

>

|

0614 KSS #F/ WASHER

0O.D.1

4

—

ELL :mm
1] 5 AL
= .. 0D.1 H o .
BPB-020 3.0 20 15
BPB-025 EE 25 15
BPB-030 40 3.0 15
BPB-035 45 EE 15
BPB-043 5.3 43 15
BPB-050 6.0 5.0 15
BPB-062 72 6.2 15 100pcs
BPB-072 8.2 72 15
BPB-080 9.0 8.0 15
BPB-090 10.0 9.0 15
BPB-100 11.0 10.0 15
BPB-120 13.0 12.0 15
BPB-130 14.0 13.0 15

#ME : ULAZNYLON 66 (Ef)

MHE . PVC (Bf) o

> BANEAR 94V-2 o
Bt . SARBRELEBEERERE » AR > FAISTRENEERZE > I
REE~ KEBA ©

Bk REEERER » FHERIDK LB - BaZ -

]’E

BN . mm

Z® @D sMEoD. 2R . Z®  m@ip. sMEop 2B .
AGW-12 105 17.0 EGW-7 10.5 17.0
AGW-16 16.0 24.0 50pcs EGW-9 15.0 22.0
AGW-20 20.0 28.0 EGW-11 18.0 26.0 S0pcs
AGW-25 25.0 35.0 EGW-13.5 20.0 28.0
AGW-32 32.0 44.0 25pcs EGW-16 225 295
AGW-40 40.0 52.0 EGW-21 28.0 355
AGW-50 50.0 65.0 EGW-29 37.0 45.0 25pcs
AGW-63 58.5 69.5 10pes EGW-36 47.0 54.0
AGW-63L 62.0 81.4 EGW-42 54.0 65.0 10pcs
AGIW-14 130 180 EGW-48 58.5 69.5
AGJW-17 16.0 24.0 S0pcs NPTW-14 13.0 18.0
AGJW-21 20.0 28.0 NPTW-38 16.0 24.0 50pcs
AGJW-27 25.0 35.0 NPTW-12 20.0 28.0
AGJW-34 32,0 44.0 25pcs NPTW-34 25.0 35.0
AGJW-112 50.0 65.0 10pcs NPTW-1 32.0 44.0 25pcs
AGJW-2 58.5 69.5 NPTW-114 40.0 52.0 10pcs

- AGW-20F | 20.0 28.0 50pcs

ey

S i [cH]

ESMB R hEIE 5(02)2555-1929  &15(02)2556-3336  Ah(04)2301-1255 47R(06)787-2239 &k#(07)323-1488 145



®

0613 KSS ZF,AZE MULTI-HOLE SEAL

ME . BT BB 4RE (TPE) ©
ik L SEEEER » S EBEGRESTER—EREEEL -

f
o e o% op.
o Aege

B SR
Item No.
MH9-2A
MH9-3A
MH9-4A
MH11-2A
MH11-3A
MH11-4A
MH14-2A
MH14-2B
MH14-2C
MH14-3A
MH14-3B
MH14-3C
MH14-4A
MH14-4B
MH14-4C
MH14-5A
MH14-6A
MH16-2A
MH16-3A
MH16-4A
MH18-2A
MH18-2B
MH18-2C
MH18-2D
MH18-2E
MH18-2F
MH18-2G
MH18-3A
MH18-3B
MH18-3C
MH18-3D
MH18-3E
MH18-4A
MH18-4B
MH18-4C
MH18-4D
MH18-4E
MH18-4F

S i} I

EREE
IME
Cable Range
2.0~3.1
1.6~2.6
1.3~2.3
2.0~3.1
1.6~2.6
1.3~2.3
1.6~2.6
2.0~3.1
3.0~4.1
1.6~2.6
2.0~3.0
3.0~4.2
1.3~2.3
1.4~2.4
2.4~3.4
2.0~2.8
1.4~2.1
3.5~5.2
3.5~5.0
3.2~4.0
1.6~2.6
2.0~3.0
2.5~3.5
3.0~4.1
3.3~4.3
3.5~5.2
4.3~6.1
2.0~3.0
2.6~3.6
3.0~4.2
3.5~5.0
3.5~5.2
1.4~2.4
1.6~2.5
2.4~3.4
2.5~3.6
3.0~4.2
3.4~48

ME B
OoD. H

9.0 73

11.0 80

14.0 9.2

16.0 8.4

175/ 9.0

BREER

> H e
O ° @
O OO

18 8%

50pcs

Suitable :
Cable Gland Moles Packing
AG-12 2
EG-7 3
AGJ'14 N
NPT-14%5] 4

2
EG-9%5! 3
4
2
AG-16~ 3
EG-11~
AGJ-17 ~
NPT-38%5!)
4
5
6
2
EG-13.5%5%| 3
4
2
AG-20 ~
EG-16~
AGJ-21 3
NPT-1225%)
4

B
Item No.
MH18-5A
MH18-5B
MH18-5C
MH18-5D
MH18-6A
MH18-6B
MH18-7A
MH18-7B
MH23-2A
MH23-2B
MH23-2C
MH23-2D
MH23-2E
MH23-2F
MH23-3A
MH23-3B
MH23-3C
MH23-3D
MH23-4A
MH23-4B
MH23-4C
MH23-4D
MH23-4E
MH23-4F
MH23-4G
MH23-5A
MH23-5B
MH23-5C
MH23-5D
MH23-5E
MH23-5F
MH23-6A
MH23-6B
MH23-6C
MH23-6D
MH23-7A
MH23-7B
MH23-7C

EREE
IME
Cable Range
1.3~2.0
2.0~2.8
2.0~3.1
3.0~4.1
1.3~2.0
2.0~3.0
1.3~2.0
2.0~3.0
2.5~35
3.3~4.3
3.5~5.1
4.3~6.1
5.1~6.5
6.4~8.7
2.6~3.6
3.6~5.2
4.8~6.2
6.2~8.0
1.6~2.5
2.0~3.1
2.5~3.6
3.0~4.1
3.4~48
3.8~5.2
5.6~7.3
1.3~2.0
2.0~3.1
2.6~3.6
3.0~4.1
3.6~4.6
4.6~6.0
1.3~2.0
2.0~3.0
2.6~3.6
3.6~5.2
1.3~2.0
2.0~3.0
2.6~3.6

ME B
OD. H

o

175 9.0

228 11.2

GAS)

EEE BRE

B{i : mm

BAETHE s
Sutable S B BE
Cable Gland 9

5
AG-20
EG-16
AGJ-21~
NPT-12%5] ©

7

2

3

50pcs

AG-25 4
EG-21+
AGJ-27 ~
NPT-34%5]

5

6

7

146 BISMER R Bl & 5 (02)2555-1929  £16(02)2556-3336 57(04)2301-1255 ©7(06)787-2239 =1#(07)323-1488



ey

0613 KSS ZFLAIZE MULTI-HOLE SEAL ©
B . mm
g BEER gg gy ERERR ny ax o mg  BEER gg gy EREER a4 e
Item No. CobIeF?c:mge OD. H  (gble Gland Holes Packing Item No. CobIeRJ:Jnge OD. H  (ible Glang Holes Packing
MH30-2A  3.6~5.2 MH30-6A 2.6~3.6
MH30-2B 5.1~6.5 R MH30-6B  3.6~5.2 ég;g 6
MH30-2C  6.4-8.7 MH30-6C  56-7.0 304 14.4 1% 25pcs
MH30-2D  7.7~10 MH30-7A  2.6~3.6 NPT-1Z5] 5
MH30-3A 3.6~5.2 MH30-7B  4.6~6.0
MH30-3B  4.8-6.2 ; MH39-2A  7.0~9.0 ,
MH30-3C  6.2~8.0 MH39-2B  11~13
MH30-3D  7.7~10 AG-32+ MH39-3A 65-83 AG-40
EG-29 - 39.0 83 NPT-114% 3
MH30-4A 20-31 304 144 17 25pcs  MH39-3B  7.7~10 5
MH30-4B  3.0~4.1 NPT-125] MH39-4A  10~12 4
MH30-4C  3.8~5.2 4 MH39-5A 6.5~83 1opcs
MH30-4D 5.6~7.3 MH42-2A  7.0~9.0 ,
MH30-4E  7.0~9.0 MH42-2B  11~13
MH30-5A 2.6~3.6 MH42-3A  6.5-83
418 83 EG-36R%] 3
MH30-5B  3.6~4.6 MH42-3B  7.7~10
MH30-5C  4.6~6.0 ° MH42-4A  10~12 4
MH30-5D  6.0~8.0 MH42-5A  6.5~83 5 |
iE
T}
0613 KSS /= ¥LAIZE FLAT-HOLE SEAL ©

P& BAnEEE%ERE(TPE) ©

BR  GeETHEMER  ERREBREENEEEL -

EEEACEEE » BUSRRAIINT ¢

MHO-FARBBCAG-12[EESE » AIBYSEAAG-12-FA ; MH23-FDIEECNPT-34
EETE > BIRSEANPT-34-FD ; MH42-FB¥2BCEG-36[EE5E » AIAISEA
EG-36-FB o

O.D.
v e
B . mm
BEEE . = ; FF .y o BREE . = j E3
nyg | BEER e B EEERR | qp || my | BERR ) &) 0 HEEER ) 4
[tem No. = oD. T urtable Packing ltem No SME E Suitable Packin
Cable Range H Cable Gland " Cable Range H Cable Gland 9
AG-12~EG-7~ MH23-FA 11.8X6.5
MH9-FA  6.9X2.3 9.0 7.3 AGJ-14-NPT-14 AG-25 ~ EG-21 «
Z3| MH23-FB  11.8X7
22.811.2 AGJ-27 ~ NPT-34 50pcs
MH11-FA 6.9X2.3 11.0 80 EG-9 MH23-FC = 13.8X6 £
MH14-FA 6.9X2.3 AG-16 ~ EG-11 MH23-FD  13.8x7
14.0 9.2 AGJ-17 ~ NPT-38
MH14-FB  9.8X6 o) MH30-FA | 13.8x6 AG-32 ~ EG-29 *
MHL6.FA | 113x5 1160184 EG.135 MH30-FB 13.8x7 30.4 14.4 AGJ-34NPT-1  25pcs
MH18-FA  9.8X6 50pcs  MH30-FC  21.8X8 5
MH39-FA 28.3X10 AG-40 ~ NPT-114
MH18-FB 11.3X5 AG-20 * EG-16 * MH39-FB | 28.8X5.5 39.0 83 Z5)
MH18-FC 11.8X6.5 17.5 9.0 AGJ-21* NPT-12 O 10pcs
MH18-FD 11.8X7 =5l MHA2-FA | 28.3X55 418 83 EG-36

MH18-FE | 13.8X6 MH42-FB  28.5X10

AG-20 ~ EG-16
MH18-FF | 13.8X7 17.5 9.0 AGJ-21 ~ NPT-12
#7

EISMRAREIE 5 (02)2555-1929  &15(02)2556-3336 &5(04)2301-1255 47(06)787-2239 =i (07)323-1488 147



®

0613 KSS %fL P32 MULTI-HOLE SEAL (3 HOLES) @

EEE BRE

ME . BT B4R (TPE) ©
BEf . Bfmo
ik L SEEEFER » S EEBEGESTERN—EEEEL -

> H =«

B—»
B : mm
BERABEBEIME p - .
A g Cable Range sME B BRAEEE f1 8
Item No. O.D. H Suitable Cable Gland Packing
?A ?B
MH30-3MA 10.7~8.5 5.9~5 30.3 144 AG-32 -~ EG-29 ~ AGJ-34 ~ NPT-1 25pcs
MH39-3MA 10.7~8.5 5.9~5 38.8 17.0 AG-40 > NPT-114 10pcs

S it 2

148 BN R R B 55 (02)2555-1929  £16(02)2556-3336  &H1(04)2301-1255 &7#(06)787-2239 =1#(07)323-1488






